OVS452 Midterm – theoretical questions
Macroeconomic Aggregates:

1. What is the difference between exogenous and endogenous variables?

2. Define Gross Domestic Product (production method).

3. How do you account for increase and decrease in inventories in the GDP accounting?

4. What types of output are not included in GDP?

5. What is the difference between real and nominal GDP, which one is better measure of the economy’s production and why?

6. Write down defining equation for GDP deflator, provide example of calculation.

7. Give an example of durable goods.

8. Is the purchase of a stock on the stock exchange counted in the GDP? Why?

9. Why there is a need for the seasonal adjustment of GDP?

10. How do you define Gross National Product?

11. How do you define disposable personal income?

12. Write down the definition (formula) of CPI. Explain what it measures.

13. State 4 basic differences between CPI and GDP deflator.

14. Why does CPI overstate inflation?

15. Why does GDP deflator understate inflation?

16. Who is considered to be unemployed (according to Czech Statistical office)?

17.  How do we define unemployment rate?

18. How do we define labor force participation rate?

19. Explain the intuition behind Okun’s Law.

General equilibrium model of GDP

20. Write down the definition and assumptions behind the Walrasian concept of general equilibrium.

21. State and explain some (min 2) of the violations of the assumptions of Walrasian concept of general equilibrium that we observe in the real economy.

22.  Name and define 2 basic factors of production.

23. Write down and explain the assumption of constant returns to scale.

24. Write down and explain the assumption of positive and diminishing marginal product.

25. Write down and explain essentiality and Inada conditions.

26. Derive marginal product of labor from general Cobb-Douglas production function.

27. Write down and explain the profit maximization problem of a firm.

28.  Explain how we derive the demand for labor and capital from profit maximization of a firm.

29. What are the necessary conditions for economic profit to be zero in the general equilibrium model of national economy.

30. How do we define marginal propensity to consume?

31. Why is investment a negative function of interest rate?

32. Write down the equilibrium equation for goods and services market.

33. Write down the equilibrium equation for loanable funds market.

34.  What is the crowding out effect in the context of government expenditures?

35. How does an increase in government spending affect equilibrium on the loanable funds market?

36. How does a decrease in taxes affect equilibrium on the loanable funds market?

37. How does an increase in investment demand affect equilibrium on the loanable funds market?

Consumption 

38. What were Keynes’s three conjectures about the consumption function? 

39. Write down the formal notation of consumption function that satisfies all three Keynes’s conjectures. 

40. Describe the empirical evidence that was consistent with Keynes’s conjectures. 

41. Describe empirical evidence that was inconsistent with Keynes’s conjectures.

42. How would you define intratemporal and intertemporal budget constraint, and what is the difference between the two? 

43. What is the effect of change in income within the framework of Fisher 2-period model? 

44. What is the effect of change in interest rate within the framework of Fisher 2-period model? 

45. Explain income effect of interest rate change (Fisher 2-period model). 

46. Explain substitution effect of interest rate change (Fisher 2-period model). 

47. Explain implications of Fisher model for the identification of determinants of consumption.

48. What is the basic idea behind the life-cycle model? 
49. How does life-cycle model explain contradictory evidence concerning consumption behavior?

50. Explain difference between permanent and transitory income. Which one determines the level of consumption and why? 
51. How does permanent-income model explain contradictory evidence concerning consumption behavior?

52. What is random walk (give definition or simple explanation)? 
53. Why are changes in consumption unpredictable if consumers act according to permanent income hypothesis and have rational expectations?

54. Give an example in which somebody exhibits time-inconsistent preferences
55. What implications has the "pull of instant gratification" for the behavior of aggregate consumption.

56. Summarize determinants of the current level of consumption.

Money and Inflation

57. Define money. What are the three main functions of money? Explain them. 

58. What are the two basic types of money with regards to their intrinsic value? Give examples

59. Who regulates the money supply in the Czech republic? 

60. Define monetary aggregates M1, M2 and M3. What functions of money do they perform? 

61. What are the reserves? What is their role in the regulation of money supply in the economy?

62. State three basic instruments of monetary policy + how do they affect money supply.

63. How can banks create money? 

64. Based on the simple model presented at lecture, what are the main determinants of money supply in the economy (+ who are the agents)?

65. Write down quantity equation and explain what it represents. 

66. Write down the Fisher equation (relationship between nominal and real interest rate).

67. What is Fisher effect? How do the expectations about inflation translate into demand for real money holdings?

68. Compare transaction and portfolio theory of money demand. What functions of money do they emhasize? 

69. Explain the main idea behind Baumol-Tobin model (use pictures).

70. Explain the difference between demand-pull and cost-push inflation.

71. Categorize the costs of inflation on micro level.

72. List all the costs of expected inflation and rank them according to their severity (in your opinion).

73. List all the costs of unexpected inflation and rank them according to their severity (in your opinion).

74. Can you think of any benefits of inflation?

75. How do we define hyperinflation? 

76. Explain the role of monetary and fiscal policy in causing and ending hyperinflation. Explain the role of households in steering the inflation.

77. What is seignorage?

78. Define real variables and nominal variables, give example.

79. Explain the concept of neutrality of money.
Labor market

80. Describe the structure of labor market in the classical competitive market. What determines labor demand? What determines labor supply? Is there any space for involuntary unemployment?

81. Explain the model of natural level of unemployment. Explain the flow equation in the labor market sE = fU. How is the natural rate of unemployment determined?

82. What is the main underlying cause of frictional unemployment? State three reasons for existence of search and matching frictions in the labor market. 

83. What are the main public policies targeting frictional unemployment? 

84. What is the main underlying cause of structural unemployment? Give an example of sectoral shift that affected employment in your country.

85. What is the main underlying cause of classical unemployment? 

86. Describe the effects of minimum wage law on the level of unemployment. 

87. What are the incentives for firm to pay higher than equilibrium wage - i.e. efficiency wage?

88. What do you understand under adverse selection in the context of efficiency wages argument?

89. What do you understand under moral hazard in the context of efficiency wages argument?

90. What is the main underlying cause of seasonal unemployment? 

91. What is the main underlying cause of cyclical unemployment?

92. Compare the duration of unemployment spell in the Czech Republic (e.g. compared to USA)? What implications does it have on the government policies against unemployment?

93. What can you say about the problem of youth unemployment in the European context?
Solow model

94. How would you describe unconditional convergence? State the equation and explain the intuition.

95. How would you describe conditional convergence? State the equation and explain the intuition.

96. Which assumption on production function allows us to work with per capital values?

97. What are the other two assumptions on neoclassical production function?

98. What are the two causes of the change in the capital stock?

99. How would you support the assumption of the constant saving rate on micro level?
100. Define the steady-state condition in the Solow model with technological and population growth.

101. What are the characteristics of the steady state in the Solow model?

102. Draw the picture depicting the effect of increased saving rate on the steady state in the Solow model.

103. Define the Golden rule level of capital in the Solow model (what is maximized, how do we compute it).

104. Might a policy maker choose a steady state with more capital than in the Golden Rule steady state? Explain your answer.

105. Might a policy maker choose a steady state with less capital than in the Golden Rule steady state? Explain your answer.

106.  In the Solow model, how does the rate of population growth affect the steady state level of income per capita?

107. In the Solow model, how does the rate of population growth affect the steady state level of growth of income per capita?

108. Define exogenous growth models + give an example.

109. Define endogenous growth model + give an example.

110. How do we attain endogenous growth in AK type models?

111. When constant returns to capital input are a reasonable assumption?

